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1. 'The solution of xdy —y dx + x2¢*dx =0'is

) §+-e"" =C @) x+ed=C (3) -;_— +e*=C @ yye'=C

2. The algebraic sun of deviation of 20 observations meastred from 30 is 2. The mean
.observation-is: |
(1) 285 2) 296 (3) 305 (4) 30.1

3. The standard deviation of 15 items is 6 and if each item is decreased by 1, then
‘standard deviation will be-

Pl @7 @) 6 (4) None of these

4. Ifina frequency dlstnbutwn, the mean and median are 21 and 22 respectively, then
its modeis apprﬁxmately

() 21 @ 42 (3) 22 (4 20

5./ A coin is tossed 4 times, The probability that at least one head turns up is :
() -ilg @2 ® = (4) None of these
6. One card isdrawn randanﬂ},r fromi a pack of 52 cards; then the pmbabﬂaty thatitisa
gkmg or spadeis :
3

(1) _ @) —~—~ (3) ~1—3 (4) ﬁ

7. A pfoblem nn nmthematxcs i5 given to three studenfs A, B, C and their respective
probability of solving the problem is: % —3— and =, Prﬂbablhty that'the problem is.
solved, is- | |
geee ] .3 e G
(1) 3 2) 5 () 1 (4) 3

8. Five coins whose faces-are marked 2, 3 are tossed. The chance of obtaining a total-of
12 'isi*

W 5 @ = = @ = 6

9. Acardis cirawn froma pac:k of cards. The probabllity that the card will be a queen or
a heart is:

(1) - I‘S’ (2) : 3 (3) 13 (4) Noneof these
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10. 1iadiceis thrown twice; the probability: of occurrence of 4 at leastonce; is :

1) -1}' (2) E (3) 4) Nnnaef these

_[3;'(1 +logx)dxis equal to::
1) x+C @) x*+€ (3) x*logx (4) Noneof these

IR
' ' _ dxisequal to:
2 Ix 24dx+5 A

6 5’193;[1. 4z +5]-2tan M (x+2)+C

@ %_1qg.[(_x:+.2)2 1|4 2tanT(x+2)+C

@) %lijg[;fi +4x 45 C

(4) Noneof these

13 Ism:ccus:'f is E._-qual to:

(1) log|sivx] +C (2) 'IQEFI._Se{:-:-x']"a- o
(@) log|tan¥| +C (4) None of these

1
A 1-

d alto:
Jl_(cos 1)[1&3( H;H x isequal to
2 a

1 T
1) 1 @) e 3 0 (@) -1

15. I lséqu_ali to:
¥t =x '

16.. The value of J'(l— X ]smxcus X dx is
(1) = () 0 (@) 2n (4) None of the:
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L - 17 The area bounded by y = log x; x-axis and ordinatesx=1,¥=21is:

(1) lng( ) S unit (2) lﬂg(ﬁj sq unit
(3) Iog 4 sq- unit (4) _None,_qf i_;he_s_e-_

448 % squnit () %aqumt @) %aqumt (4) None of these

19, Areaof regmn sans I_.f_"_‘-,_gx 52, y<|x|and x>0is:
(1) 4sq. unit (2) 1sq. unit (3) 2sq. unit (4) None of these

isequal to:
"xl+4x+13 Sy

(1) mn't[x';'zjfc; (z) -mn-”+c

If A is a square matrix, then (A+ A') is:

(1) umt matnx (2) symmetric matrix

1 |- then value of o for which A% =B is:

(Che m = -(:«si 4 ) noreal value

(1) —— 2) = 3) = 4) ——

1) == @ = ® 1 @ -3

1) 0 @) 22 (3) £t ' (4) None of these
| 1 W —w?/
- Ifwisacomplex cube root of unity, then {1 1 1 |isequalto:

140 |
(1) 1 2 w (3) 0 @ w?
- PG-EE-2016/(Mathemiatics Hons.)/(D) P.T.O.
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26. If C = 2 cos 0, then the value of the determinant A={1 € 1] isi
6 1 €

sin 46
sing
25in %20

oy 22 * ) Noneof these:

(1) (2) 4cos®0(2¢086-1)

27. x+ky-z=0, 3x —ky-z=0andx—3y+z= 0 has non-zero solutien for kis-equal to':
(1) 0 (2) 1 @) -1 (4) None of these
1t D

28 ip [3- -.-_],-_am-ﬁfl AL

i :

& 2 _5 2] st 25 T
(1) [E‘- 2 :\ (2) [ _3:1_1 31_} 3) L}j’l _i] (4) Noneof these
Y WS 1Y S

- : = _
29. If A‘:[11 b l(?fff’].,i.rhen. !AI is equalto

(i) 0 =T (@) log] (@) log;

30. Ify-- r\};m-x-.-.+..\l_s_inx +/Sin X +....0 , then % is equal to':

nx

&i
1-2y 2=

() (4) Noneofthese

31.. Alady gives adinner party for six guests. The number of ways in which they may be
selected from ‘among ten friends; if ‘two of the friends will not attend 'the party
together, is: ' ¥
1) 164 S (2) 140 (3) 112 (4) 40

32. If w is an‘imaginary-cube root of unity, then [1-1— zu-r&z-)'ié--equ'eil to |
(1) 1287w, (2) —128w (3) -128w" (4) 128w°

33. Theequationzz+ (2—31) 2 +(2+ 3i)  + 4 =0 representsacircle of radius:

M 3 @ 4 ® 2 @ e
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‘34. 1f the roots of the equation q..# +px+q=0 are.complex, where p,.q are real; then the
rootsof the -quaﬁeh x2 —4gx+p> =0 are:
(1) real and equal (2) imaginary
(3) re_ai-:and unequal- ) jnqnﬂ"t_:rf these
35. Ifa+D =8, thenabis greatestwhen: s i
A) e=8,b=5 (@) a=4b=4 @a=6b=2 & ‘None of these
36. Ifthe coefficient of 7th and- 13th term in the axp_ané'inn-'pf. (1 +x)" are equal, then 7 is
equal to;
1y 10 (2) 20 (3) 15 (3) 18
expression "epsy + "o +2% e, ‘equals:
(1) n+2cr | (2) n+2 651 (3) rl.-lf-'l,r_.r ( 41 ﬁﬂﬂ%_-l_—l
38. The number which should be added to the numbers 2, 14, 62, so that the resulting
numbers may be in G. P.is=
(1) 4 2 3 i3 2 @1
g, If the roots of theequ,atmn x#-—lﬁﬁ:z 39y —28=0 arein A.P, then t]flelt' common
differenceis:
(1) +2 (2) 4 (3) =1 (4) £3 |
40, The equation of the straight line joining the origin to the point of intersection of
y —x+7=0and y+2x =2 =0is: |
(1) 3x+idy=0 (2) 4x+3y=0 (3) 3x—4y=0 (4) 4x-3y=0
41. Let R be the relation from A = {2, 3, 4, 5] to B = {3, 6, 7, 10] defined by 'x divides ',
then R isequal to :
(1) t6:2), (3,3 @) ((6,2),(10.2)}
@) 1(6,2),(10,2); (3,3), (6,3),(10,5)}  (4) Noneofthese
42. ‘Which of the fullm{mg isa singleton set?
(1) i |xl<1,x € Z) @) (x: |x|=5.x¢€Z]
@) friat=lxeZ) @ (x:x*+x+1=0,xeR}
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43. fA=((x,y):y=¢" ; xeRland B = {(x,y): Yy=e" -;:f-l-'-{'-E':RL t-ﬂit_art AﬁB is:
(1) emptyset  (2) notaset (3) singleton'sét  (4) none of these
4. TEA={0uy):x® +y° =25) and B={(x,5):52 +9y2 = 144}, then A/ B eotitains
(1) one p_(}iﬁ_l'_; (2) two points (3) t’hreep'qiﬁt_;s; (4} four points
45 Ifz= i."fﬁg'“{i’f— JEL then-fec)s.z.'is;e;]ua] to: |
&5 T @ 2 (3) 3i (4) 2
46. The expression tan?e 4 cot® o is : _
(1) >2 (2) <2 3B) =2 (4) ‘None of these
4a7. Alinear programming problem is concernied with ﬁiidjh_g the following value :
(1) only maximum value (2): optimal value
(3) only minimum value (4) none of these
48. The-.iﬁ&ajr function Z = ax + by, where g, b are'_.mﬁ_s_tagtg,_.wl_fi_ighz';hﬁsg',_t’a_ be maximized

or minimized is called a :
(1) constraint (2) function of any type
(3) -'linear-:::bjectiv&ﬁméﬁgn (4) ~nune-tmi?tﬁese‘-
49. - A compound statementis a staterdent which is made upof
(1) only one statement (2) anynumber of statements’
3) two or more statemrients (4) none of these
50. A compound statement with an 'Os' is false when :
(1) onecomponent statement is false
(2) none component statement is false
(3). both the component statements arefalse.
(4) none of these

~ Fal — ; s
C

51. If7=i4 }"+ P B=2i— 4k, ¢ =i +2j +3k are coplanar, then the value of & is :

(1) 3 @) = (3) > (4) 3
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52. 1f @' =2i+j+2k and ¥'=5] -3]+£, then the projectionof & on @ is:
1) 6 ) 5 (3) 4 (4) 3

53. Ifa, b, ¢ are mutually perpendicular unit vectors, then | T+ b ¥ c |is equal to :
!(1')" 3 (2) V3 (3y 1 | (4) 0

)

54, ]If::-i' E k. "'-r+), :.-_:and(uxb)xc —ln+ub then'A + pis equal to :
(1) 3 . 2 1 @3y o 4) 2

55. A variable plane moves, so that the sum of the reciprocals of its intercepts on the.
coordinates-axes is %Thentheplane passes through :

T T 3\ (o : (3} (2.2 9 4) (0.0,
0 (333 @EL)  ®en @000

56. The equation of the plane which bisects the line joining (2, 3, 4) and (6,7, 8) is :
(1) x+y+2z-15=0 2) x+y+z+15=0
(3)' ';':r'—y-.-z -15=0 4) x;-yr+:z:~i15 =0
57. The direction ratio of normal'to the plane through (1, 0; 0), (0, 1, 0) which makes an
‘angle wath planex+y =23 are:
(1) 1,421 (2) 1,1, 42 (3) 1,1,2 @ +2,1,1

58. A line makes the same angle 6; thh each of the x-and z axes. If the angle B which it
makes with y-axis is such that sin®g = 3sin? 0, then c0s20 is equal to:

1) = (z> : @ 2 @ 2

y % W _........_-— 3\ 9T _H¥ _ sy 2% b b
(1) 2*ad=€ (2) 22, 2-"' C (3 2°-2Y=C  (4) Noneofthese
60. Yy+x° __ﬂf_ ‘has thesolution :

:(1] y+x +2x +2=ce" (2) y+2x=cex
) y+2x+2=ce’ (4) None of these
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61. Five horses are in the race. Mr. B salects two. of the horses at. random and bets a
th&m The prnbablhty tha’c Mr. B selected the wmrung horse, is:

(1) E- (2 Tg (3) = '(4) None of these

62. If A and B are events such that P(AUB) = P{A AB)= -..,, P(A)= —g-then P(A i
s . _ 3
W 5 IS ® 3 @ 7

63. A com is tossed three times. The probability of gettlng head and tail alternatively, is.

(1) ,_';' (2) — (3_}. — .(4}:_.an¢;-0§ these

64. Seven white ballsiand three black balls are randomly placed in a row, The‘probabili
that no two black balls are p]aced ad;acﬁntly, eqllais

(1) 1_3 @) '1_'5; @) 15 (4) 2

65.  The solution set of the equation sinvx=2tan " x is:

1y (1,.2p @ (-2 3) (=1,1,0} @) {1%0}

i ] 2 ] T 1_-:,:-2“

1-a
&

1+a

(4)

67. ;axf\"i"ﬁ -taz_:f‘l i_é: (x >y > 0)15 equal to:

a1
i = 4) 7

68. Ifinatriangle ABC, |A =tan™' 2 and |[B =tan'3, then angle Cis equal to:
® 2 @ = ® (8) None of these
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69. For real nurbers x and y, we write xRy <> %% ~y*++/3 is an irrational numiber. Then
therelation R, 183

(1) Transitive  (2) Reflexive (3) Symmettic  (4) Norne of these

70. A funclnan f from the sét of natural numbers fto mtegers defined by

f(x)= { £ : s

(]) one-one but not onto (2) ontobut not one-one
(3) one-one and onto both {4) ‘none of these

71, Iftwo sets Aand B are havmg 99 elements in common, then the humber of elements
common to each of the sets A x Band B x A are:

(1) 99° @) 18 @) 2% @ 100

72 1f f()=1-— ;,-_t’heﬁ.-ﬂie--mue;aff;f[_ f(-i-ﬂ i

.-(.1).% =1 (2) 7 @) — —

73, The function £(x)=log{x+Vx?+1)is:

(1) an even function (2) ‘anodd function
(3) aperiodic function (4) none of these
T4, The value of sin A sin(60° + A) sin(60° — A)'is equil o

@) sin34 @) sm%é (&) sin 3;1

75.. If cc}sﬂ-%[.’a + x} then- ;(x +—1-J islequal to':

P

.44
sin—

(1) cos26 (2) sin20 (3) sec20 (4) tan 20

-

76. If y=sin® 0+ cosec, 0 %0, then
() y>2 @ ys2 3 yz-2 @) y=0

v

‘PG-EE-2016/(Mathematics Hons.)/(D) | B

L ]
gcollegedunlaé
India’s largest Student Review Platform

—



c0s12°—5in12?  sini147°
cos12°+sin12®  cos1d7”

(1) 0 (2) -1 (3) 1 (4) None of these

77. Thevalue of

isequal to:

?8- P(ﬂ): 1 + 3"‘ 5 + e e (2"— 1) = H2 is i
(l} trueforn>1 (2) true for non
(3] ‘trueforalln e N (4) ﬂﬁne-ﬁf’ﬂmse

79. if“eleven members Gf ‘a committee sit at a round table 50 that the Premdent and
Cashier always sit together, then the number of arrangements is :

(1) |10 x 2 @) lo9x2 @) [10 {4) Noneof these'
80. Inhow many ways can 5 keysbe putinaring?

@ |5 @ = @) la @ l--

81. The straight line whose sumiof the intercepts on the axes is:equal to half of the
product of the intercepts, passes through the point :

(1) 2:2) 2 (1,1) ® @9 @ 33
82, The equation of a circle with centre (1, 2) and tangent x+y =5 =0 s’

(1) ¥+ +2x-4y+6=0 @) *¥*+y? —2x-4y+3=0

(3) ¥2+y?—Dx+4y+8=0 (&) X2 +y? —25-8y+8=0

83. The distance between the foci of an ellipse is 16 and the eccentricity i‘s-_%..-'l’..en_gthu of
major axis of the ellipse is :
) 8 @ 16 ® 2 @es

84. “The ratio in which the line joining (2, 4, 5) and (3, 5, —4) is divided by the yz-plane is
(1) 4:-3 @) 3:2 (3) 2:3 4) —2:3

85. A plane makes intercepts 3 and 4 respectively on z-axis and x-axis. If planeis para]lei
to y-axis; then,its equationis :

(1) 3z+4x=12 (2) 3y+42=12 (3) Bx+dz=12 (4) 3z+4y=12
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86, lim

() = W) 3

Iy dy
ik
=0 xtan(;r: +X)

is equal to:

- The points of discontinuity of tanx are':
) x=w @) 2z ® @k

Wwherene [

If xy= eV, then %mequal to:

(x=Dy o (x+1y =1y
1 2) 3
B ? Xiy) =

1+sinx-cosx .
‘then 4y mequal to:
1+sinx+cosx’ dx

1 e 1

If y =

© cosx 7 sinx © 1-cosx

1
o If .A { :1[;' then Amﬂ 15 e::jual tO

2% @) 1004 @ 2%4

- Ifix)=x+2, then ff(x)] atx=4is:

(1) 8 @1 (3) 4

5, _
The value of di[[:m 2x —tan Jcots.t] is:

BR2 2% tan?

(1) secx (2) sec?x (3) secxtanx
e

. Ifx=asin0,y=bcos b, then j—% is equal to

I

W Beco @) -Leto (3 Lucto
e | a

PG-EE-2016/(Mathematics Hons /(D)
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(4) None of these

@) -2nn

(4) Nore of these

(4) None of these

(4) 299 A

4.5

(4) '3"5;8.&2":3

(4) None of these
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94,

95,

‘96..

97..

a8.

99.

100.

@+ @) OF @ =

I 2y =G+ )™, then L s

w L @2 ® (@) Noneof these
X 3 g

Maximim slope of the curve y = —x3 + 3x% 4+9x~27 is:

) o @ 16 3) 12 @ 32

The function x* isincreasing, when':
(1) x> 1 (2) x< 1 @ x<l (4) Norie of these
e e

The rate of change of the surface area of a sphere of radius 7, when the radius is
increasing at the rate of 2. em/s is proportional to :

Tl

Angle betiveen the tangents to the curve y =% 5x+6 at the poinits (2, 0yand (3, 0) is :
e AT ey NI e TR B

————vdxisequalto:
xlx? +1

() logx+C (@ 2tan”'x+C () log—+C (4 Noneofthese

RASUURITT T s
| TN gaisequal to v

@) xtnz+C () @n+C (3 logeos> (@) Noneofthese
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